GSE Geometry                                                      Unit 1 – Angles and  Transformations
1.8 – Practice 


Name: __________________________________________________________ Date: ____________________________
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Combinations of Transformations Practice


Use the graph of the rhombus to answer questions 1-3. 

1. Perform a glide reflection over the x-axis and a translation to the right 3 units. Write the new coordinates.

2. What is the rule for this glide reflection?

3. What glide reflection would move the image back to the pre-image?
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Use the graph of the triangle to answer questions 4-6. 

4. Perform a glide reflection over the y-axis and down 5 units. Write the new coordinates.

5. What is the rule for this glide reflection?
6. What glide reflection would move the image back to the pre-image?
[image: image6.png]



Use the graph of the triangle to the right to answer questions 7-9. 

7. Reflect the pre-image over y = 2 followed by y = -3. Draw the new triangle.

8. What one transformation is this double reflection the same as?

9. Write the rule.
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Use the graph of the quadrilateral to answer questions 10-12.
10. Reflect the pre-image over the x-axis then the y-axis. Draw the new figure.

11. Now, start over. Reflect the trapezoid over the y-axis then the x-axis. Draw this figure.

12.  Are the final figures from #10 & #11 different? Why do you think that is?
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Use the scale factor  k = 2 to find the coordinates of the vertices of the image of the polygon with vertices A(-1, 3), B(-3, 0), and C(-2, -2). 
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Use the scale factor  k = ½  to find the coordinates of the vertices of the image of the polygon with vertices A(-2, 5), B(-6, 4), and      C(-4, -6). 
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Using the triangle A(-1, 3), B(-3, 0), and C(-2, -2), perform the 2 transformations: reflect over y = x and translate (x + 3, y + 4).  

	16. Using the triangle A(-1, 3), B(-3, 0), and           C(-2, -2), perform the 2 transformations: Rotate 90( CW rotation about the origin and reflect over y = -2.



1. Determine if the following scale factors will result in an enlargement, reduction, or congruence:

A. 
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B. 150%


C. 100%


D. 
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E. 0.4
2. If segment AB has a length of 3 units and is 

3. What are the side lengths of 
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dilated by a scale factor of 2.25, what is the


with a scale factor of 2.5 given that

length of AB?  Is this an enlargement 



DE = 1, EF = 9.2, and FD = 8.6?

or reduction?
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